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GEOGRAPHY
( General )

( Economic, Political and
Environmental Geography )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Choose the correct answer of the following :
1x10=10

oo AR T Te1eo! I TEe :

(a) Which of the following is not a branch
of economic geography?

O (FCOT FLARTS eollerd b1 =1 72 ?

() Agricultural geography
IR gear=
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(2)

(i) Industrial geography
e DE RS I|

(iii) Transport geography

TS $CTTaA

(iv) Political geography
ERANSS PLSIe

(b) Which of the following two seas are
connected by the Suez Canal?

GoTd (I Y3 FEF Heas el AL FRCR ?

() Black Sea and Aegean Sea
I @ W & TS

(i) Atlantic Ocean and Mediterranean
Sea

HHA6F TSR HF 94 AR

(iii) Mediterranean Sea and Red Sea

T PR A RS TR

(iv) North Sea and Baltic Sea
TS A5 SF DS AR
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(3)

(c) In which of the following regions the
Gondwana Coal of India is found?

TR (O] S S IR FHAT (NI
T ?
(i) Makum
A
() Tamil Nadu

IEGEIN

(ii) Deccan Plateau
IS qeTeia

(iv) Rajasthan
qqEEH

(d) Pigmi, Bushmen and Hottentot people
are associated with

Preifd, qa WF AGHH (BRI
wf¥e a1 3
(i) collecting occupation
Hae? e
(i) hunting occupation
foer 3fa
(i) fishing occupation
e 4
(iv) animal rearing occupation
Ry (4
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(4)

(e} 95% tea of the world is produced in
R % B2 B =7
(i) Assam
OO
(ii) India
Wiq4\9O9
(iii) Sri Lanka
HAFTS

(iv) South-East Asia
afpel-o[ «fears

(/ Which of the following countries
produces highest amount of iron and
steel in the world?

T (AL (e <R e o e S
T ¢4 2

(i) USA
TR &3

(i) Russia
fean

(i) Japan
I

(iv) India
SRS
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(S)

(g9 Which one of the following is not
considered as greenhouse gas?

T (PR TS CTewa R (=R I 1 7= 72
(i) CO,
EIECACECE: | EX
(i) Ogj
LR
(iii) O,
(T
(iv) N,O
HRGR ARG

(h) The species Acacia is included under

Gy awmfey SRewRy wwse @ Sfeme
PRI F

(i) tropical monsoon forest
I (TN I

(i) tropical mountain forest

B AHG) I

(iii) tropical thorn forest

I3 FROM I

(iv} mangrove forest
R 19
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(6)

(i) Which of the following geographers
developed the ‘Theory of Organic State’?

Ik e CET IR G [ acTE S A OIS IO g
Ffafeet 2
(i) Carl Ritter
F1e Ao

(i) Freidrich Ratzel
FSRT qMHCEe

(iij) Halford J. Mackinder
TS (& @AfPeN™

(iv) Karl Haushofer
I TR

() The international boundary between
India and Afghanistan is known as

TEAS HF AFSASEI TBAZH U &1 @

(i Durand Line
P iR R

(ii) Radcliffe Line
efEe ARA 2o

(iii) McMahon Line
CIICAZA &% {21

(iv) Indo-Afghan Border
SRS-SEafwE fa e
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(7))

2. Answer the following questions in brief :

2x5=10
T PPTRR 5 ed
(@) Write two examples of quarternary
occupation.
bee R 101 T’ foram o

(b) Mention two problems of a landlocked
country.

FeTSICAT SYS AZ QA= Kol 071 Sy 47 |

(c) What is greenhouse?
cieayz fF2

(d) Write two differences between subsis-
tence agriculture and commercial
agriculture.

Gifdefsfes FR oo IfifEreicfes FRa =
7O1 *N12(%7] BCaY 1 |

(e) Mention four factors of flood in Assam.

TS (A1 IAARR BRG] FR9 Trad 41 |
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(8)

3. Answer any four of the following questions :
5x4=20

were faml eppTged R I Bif<or T

(a) Mention five means of conservation of
natural resources.

ATPFEF =% ARHA o0 T4 SraAY 41 |

(b) Write the distinctions between Jhum
cultivation and Terrace cultivation.

IS wF @ FRT TS A/ ANLIPHR
fera 1

(c) Write the precautionary measures to be
taken for reduction of damage from
earthquake.

wY-whed T @ WA T R
SR R TS 7'M FARLACIR o |

(d) Write the importance of oceans as the
source of resource.

ooy BT 361 T2PISRART 8FY &3 |
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(e)

(9)

Write the differences between State and
Nation.

B WF T T NLIIR Br |

Write an account on the drought prone
areas of India.

SR [ARATe JwaER[l R @b o=
fer=n

4. Answer any four of the following questions :

10x4=40

Ters i PR i e wifeR Tee

(a)

(b)

8A/799

Define economic geography. Explain the
regional and systematic approaches in

economic geography. 2+4+4=10

GRS e @ o | wtAfes g
QTR Wels g WE AqAm TES qol
TN 0|

What are the major iron ores? Explain
the pattern of production and distri-
bution of iron ore in the world. 3+7=10

R I SReHR & &2 kA ¢R w3
TeoAMa W 839 7ICH I A1
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(c)

(d)

(e)

8A /799

(10 )

State the necessary geographical
conditions for cotton plantation.
Discuss about the distribution of cotton
in the world with special reference to
India. 3+7=10

FE, (ST @ ATEAT SRR IR
T 41 | SROIFS FATE CAfS R[omwer Bas
3R A IR R = F40

Explain the geographical factors for
location of industry in an area. 10

Al 3 32D PRI RIoFE I ACASAR
CSNCaNfer IR LN 341 |

Define environmental geography.
Explain the scope of environmental
geography. 4+6=10

*fRcafre peame it AR R AR Im
341

What are the factors of global warming?
Explain the effects of global warming on
the earth. 4+6=10

IS Tl I IR [ B2 e
Tar A RAS FERR AR CFIAR,
I 47|
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(11)

(g9 What do you mean by biodiversity?
Explain the causes of gradual loss of
biodiversity in North-East India with
special reference to Assam. 3+7=10

CeatAda 1A & @ 2 s Rewee Teav
(TR FRTTIR ARA 4 |

(h) Define buffer State. Explain with
examples the importance of buffer State
in the international scenario. 2+8=10

ARFR I A 0 | W@AB ErFEHS IR
B IFF SHZATTZ, TN 7 |

* K
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